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PRE SECONDARY SCHOLARSHIP EXAMINATION (Std. 8th), FEBRUARY 2017
Seat No.

Paper No. IT Third Language and Time : 1.30 to 3.00
\Pages : 32 Intelligence Test Total Marks : 150
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Medium : English

Read the following instructions carefully before you answer the questions.
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This guestion paper contains fwo sections. In Section I there are 25 questions
of Third Language and in Section II there are 50 questions on Intelligence
Test. All 75 questions are compulsory.

All guestions carry 2 marks each.

Time limit to solve the question paper is 90 minutes.

Separate answer sheet is given to record the answers. Each question has been given
four alternatives. Read them carefully. Select the correct answer and shade the
correct answer in the answer-sheet.

Example :—If the correct alternative for Q. No. 6 is 2, then record your answer as follows :

Question No. 6 @ . @ @

Answer recorded in any other form will not be concldered Such answer will be
marked ‘zero’.

e.g.

While recording the correct option in the answer- sheet use only black or blue ball
pen. Recording dene with pencil will not be considered.

Answer once marked cannot be changed or rewritten.

In the question paper at the most 20% of the questlons will have two correct
alternatives out of the four given. To record both the correct alternatives is a must.
These questions will have the instruction ‘Select two correct alternatives’.

Any kind of answers recorded in more than one circle will not be considered except
for those questions having instruction ‘Select two correct alternatives’.

The rough work is to be done in the box given under each page or on the last pages
of the question paper.

The exam has limited time, in case you are not able to solve a question, kindly sclve
the next guestion. In the end if time permits you can try to solve the unsolved questions.
If you find any question incomplete or with error, then do not ask anything to the
Supervisor or Centre Incharge.

For any error/mistake/objection about the questions one must give written
application in persorv/by post/by E-mail directly to the Commissioner of the Council
Examination. The school or parents should not approach Block Education Officer
(BEO) or Education Officer (EQ) for this matter.

The application regarding the ohjection on any question must reach the Council of
Examination within 10 days, after the answer key is published by Council of
Examination on their web-site. Only the applications that will reach within the
given time limit will be considered.

Questions can be canceiled due to printing mistake or any gther reason, on the
basis of the suggestions given by the Committee of Experts.
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| [ Alphabets : ABCDE FGHIJ KLMNO PQRST UVWXY

- Section II ) o

Intelligence Test

Q: 26 to 28 Direction :

27,

28,

Identify the rhythmic arrangement of terms given below and

find the correct term in place of the qﬁestioh mark :

b kfv s_p'..flg_kp v s&.k fbs pv[b ?R?F? s p
il Lo

U fkv Y kfv

@ vk @ kpvw

Gli]@m'}obgz:ﬁ Homoy ?' le:m

&) (}6 | @ _Oé,

® QrH W OO
25‘6.98-47‘}6984@25!847256_917 227284
(1) 965 @ 659

\(33/569 4 269

' o Space for Rough Work
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[ Alphabets: ABCDE  FGHIJ KLMNO  PQRST  UVWXY |
Q. 29 to 31 Direction :

s
'

v Observe the following pyramid of numbers and the sequence
of the terms given in the questions that follow. Choose the correct
term from the alternatives given that will replace the question
mark :

Y
18 19
23 24 25
‘28 29 30 31

s

33 3¢ 35 36 37

38 39 MO 41, 42. 43
29. 28, 33, 39, 29 : 31, 37, 42, 80 = 34, 29, 85, 40 : ?

(1) 41, 35,30, 36 {2y 36, 30, 35, 41
(3> 36, 30, 25, 31 ‘ (4) 35, 30, 36, 41
30. 18, 28, 30, 25 : 19, 31, 29, 23 = 38, 39, 28, 23 : ?
(1) 25, 31, 42, 43 (2) 25, 31, 42, 37
_AB) 43, 42,31, 25 - (4) 438, 42, 25, 31
_ /31. Choose the correct number from the pyramid given above, to replace
o the question mark in the series given below :
33, 39, 34, 40, 35 ? 36, 42, 37.
w % v o oa
@ 40 4) 31

Space for Rough Work
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[ Alphabets: ABCDE _ FGHIJ __ KLMNO  PQRST _ UVWXY |

32. In the following question a problem figure is given. Identify its water
Va reflection from the given alternatives : :

&

RTT T T T ITTT 7T

s

o . @) PN W)
Q. 33 and 34 Direction :

Identify the mirror image of the problem figure when a mirror
is held as shown in the diagram :

o

&

a8

(2) 3) > (4)
Space for Rough Work

<
ol

&\%
&
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| Alphabets: ABCDE  FGHIJ KLMNO  PQRST  UVWXY |

2

34, ' =l
-~ 1O (f -
IS
M\
2
(. ool (3) (4)
W y : X, X
35. Ajay’s age is three less than — times the age of Ramesh and two more

4 | | ‘
than 7 times the age of Dhondiba. If Dhondiba’s age is 70, what is

the sum of the ages of Ajay, Ramesh and Dhondiba ?

(1) 139 years (2) 125 years
QZ{ 142 years - (4) 152 years
86. At what time will the angle between hour hand and minute hand in
_/" a clock be 105° ? (Select two correct alternatives)
(1) 30 minutes past thfee {_%{)(0 minutes past two
(3) 30 minutes past 10 \(}/}/ - 30 minutes past 9
| . Space for Rough Work &+ -’1 T\“.i_.:: 7\:{3
‘ EFVEER Yo en
307 % T
ik S o %‘/3 g
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| Alphabets: ABCDE FGHIJ KLMNO

PQRST UVWXY
37. How many surfaces has the following wooden figure ?

—

it 1 (2) 13
3 1

6 (4) .11

How many triangles are there in the following figure ?

PQY

. He

' ‘ : BB
- C

L S SR
BRLTT
<1 ¥
L
2 &y
o 413
¢ ¢ 01
E & <
408 C

. A Bl
& | caq

9 C &
1 14 (2) 13 ° oee

® 15 N - e
Space for Rough Work

38.
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I Alphabets : ABCDE FGHIJ KLMNO PQRST UVWXY I
Q. 39 and 40 Direction : , .

Find out the rule underlying the arrangement of numbers in
the following questions and choose the correct alternative that

will replace the question mark :
L2 i ) h . e

- .
-3

- u\ _;. -J I‘U - 7 N
39. If9x4-= 17,7(x2=41,_10x3=73,then § x1=27

e o
W e L@ es
\/(,34/63 R 4 69
7 4 1 7
40. 4| 20 |2 7| 27 |3 5| 22 [3 2| 7 |8
3 6 9
;\ Nh A LA ¥ ‘ [
n 27 2 2

41. In a row Govind is standing at 7th place from the end and Gopal is

in the middle at 23rd place. How many students are standing between‘

them ? , . _ -
(1) 14 : U}/l/f’)
(3) 17 ' 4) 16
o ‘ Space for Rough Work
& .’/%\:-_LA ¥ A
A

WA ELY i
. |

e, L R IARE ’ e
A————-g”le NP2 S 401)
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[ Alphabets: ABCDE ~ FGHIJ KLMNO  PQRST  UVWXY |
42. Swaraj walks some distance towards East and turns left in 90°. Then
he walks 50 m. Now he turns right in 135° and walks 15 m. Now his

left hand indicates which direction ? o
North-east (2)  North-west

(3)  South-west : (4)  South-east
43. In a certain leap year it was Tuesday on 15th March. Then which day
it will be on 13th Nov. in the same year ? %
. : T SR B 215 e
\)/Y)/Sunday (2) Saturday‘ DR S A N
. ‘ ?% o '
- {3) Wednesday (4)  Monday ST
' b s
Q. 44 and 45 Direction : o 7 -J’;f;‘} *j -

Identify the Venn diagram that matches with the terms givéﬁ B

in the question :

44.. Punctuation marks, comma, semi-colon

LN > } S |
ey @ | (3) | M/
r@p ce for Rough Work vy Fe
ug{a ’ <

0522—D {19 of 32 - - PTO.



Alphabets : ABCDE

FGHIJ KLMNO  PQRST vaxyj

Non- bkelbtal ammals snake, earthworm

0@0@

. Observe the numbers given in the brackets and choose the correct
alternatwe to replace the question mark :

(1) »37
31

Q 47 and 48 Direction :
Choose the correct alternative to complete the question

figure :

47, Question flgure '

)

N

N

SO

- _ \
53 | 17 | 67 ““1’5 300 B ST RS
+1 44 1 45
11 | 72 . 23 sl
41 | 83 | 13
2) 29
4 43

Answer figures

&l@ R

(1) : (3) (4)

—\-2__ +g

Space for Rough Work

g 1 22 62»4;(3 6 82

4__———

Feo vg 0 TG
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[ Alphubets: ABCDE ~ FGHIJ  KLMNO  PQRST  UVWXY |

48. Question figure . Answer figures

P v
S R0
- w e ® @
49. Choose the correct figure from the alternatives given that is similar

to the question figure :

Question figure

74
2\

Answer figures

K '\ <
A A |

(1) wz)/ (3) (4)

Space for Rough Work
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[ Alphabets: ABCDE - FGHIJ  KLMNO  PQRST  UVWXY |

| 50. A square sheet of paper folded and cut as shown in the question figure.
./ How will the figure look like when the paper is unfolded. Choose the
correct alternative : ' '

Question figure

Answer figures

3 =9
ey (3) oW

51. Find the hidden part of the question figure from the alternatives
given :

Questioh figure _ - Answer figures , -
| N @ (3) @

Space for Rough Work
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[ Alphabets: ABCDE _ FGHIJ  KLMNO  PQRST  UVWXY |

< £ .
52. In the sentence ‘I had lent my friend some of my pocket rg_g;fiay'and

_‘
S

&
he had promised to return it soon’. How many six letter wﬁs are

.
T’ .

more or less than five letter words ?

\g)/More by 2 o (2) Less by 3

(3) Less by 4 : " (4) Less by 5

53. How many total number of vowels are there in the word

v ava o~
- ‘Examinatidn’ ?

SR

(1) Three . - (2) Five

V(s/ Six (4)  Four

Space for Rough Work
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| Alphabets: ABCDE  FGHIJ =~ KLMNO PQRST  UVWXY

54. In the letter series (G, P T,(G, T, P, N,G, \/1 M, P, Y, G. P’ which
letter has occurred mame;ur% nurg?)er of tlmes (Selcct two correct
alternatives) S ‘_

| \// G @ M
@ T | (& P

'. spegl
B55. Arrange the letters ‘G, A S T, E to make a meaningful word and

state to which of the I"ollowmg 1t belongs ?

Home ’ (2)  Airport

\\,(3)//Theatre (4)  Station

56. Letter series : bddﬁqubb@pdgdbdqdb '

In the above letter series, which is the seventh letter to the right,
from the letter which is at the fourth place to the left of the letter

which is at the middle place of the given alphabetical series ?

L b 2) d

\(}f/p | | 4) q

Space for Rough Work
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Q. 57 to 60 Direction :

Find the odd term :

57. (1)

Blackboard

(3) Notebook

58.
D @) 3) S
) |
59. (1)-73436 (2) 2325
(3) 7164 v (4) 5249 >
60. (1) GSE 42 DVC
(3) EUD ur/ KOL
66 222¢ Space for Rough quk
& £ ¢ ¢z de _
S249 3436 g1t FT %,‘ii g
7 7 @ §2- e 8 2\ ngg\?f
b\zL'b i 55
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- [Alphabets: ABCDE __ FGHIJ  KLMNO _ PQRST _ UVWXY |
@ Find the term to match the given group. (Select two correct

alternatives)

924, 1342, 3498

& 1214 | BN" 4 ok

® wn, @) 390
@ Identify the relation between the first two terms and find the third
| term from the alternatives given. (Select two correct alternatives)

Cow : Calf :: 7 : Cub
(1) Deer | (2) rMonkey

\}33/ Lion o \ Tiger

63. In the following qﬁestion relation(getween the third and fourth term

'is the same as that between the first and second. Find the term that

will replace the question mark. (Select two correct alternatives)

Cloth : Metre :: Sugar : ?

(1) Litre ' (2)  Millimetre
J"/ Kilogram - < [ g Ton
B Space for Rough Work 4 4 G |
+2156
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[ Alphabets: ABCDE  FGHIJ  KLMNO _ PQRST UVWXE
. Q. 64 to 66 Direction : | | Vi

In each of the following questions relation between 3rd and 4th
term is the same as that between the first and the second. Find
the term to replace the question mark :

64.) 237 - 1728 - 412 : ?

) 3024 @) 637
.3 2401 o (&) 343
CFI:WTQ::DHL:? o
W VRN 2 VPM
(3) UPM . 4) UQM
66. .
)| KEOHH |
(]
v @) . @)
Space for Rough Work |
w3 ot '
23r 267 | 1. 8
e ' ' b
T
o
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[ Alphabets : ABCDE

FGHIJ
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UVWXY |

Q. 67 to 70 Direction :

In the following series, determine the rule underlying the series.

and find out the term in place of the question mark :

§1 ?198‘3\1}8 70
~?3 8379
-*fe‘ 4

@ 568, 467, 370,
" At |
! _?7;

(L) 50
(3) 56

K2

\9 LE/Ll "88 7 2676
Ve

(3) 357

69.)

-

Mw/%‘

(2) 645

(4) 13560

(1) e (3) 4)
Space for Rough Work [xi«: -y
AR 2x2 42 :*14
99z 147 e de, M2 o Gxied ot
+2. :
. > 2ix =L
?-Qg = w')' Efgg 6‘?‘ e ij 9{{1,9. ?: 6‘""1 “8&
Goaoe 71 W e 93*-§-\_§¢&Q§
o B EL8E, 7 2y
A, WX, BT, gy &ésca '
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[Alphabets: ABCDE _ FGHIJ _KLMNO __ PQRST __ UVWXY
0. A@Db$DOEA@EA@V”DOEAOEA@D

AO® | D@o
\)/ Oo® W O AG
Q. 71 and 72 Direction :

Find the odd term :

od
23 34%5 64 83 106 135, 166

NS R, Hﬁ 3, A«\a,

: -’r*’?, 1/_.
® 6 | U 49 L
(3) 8 W 1%
th '*"4 e
T2, )BVFR)N@.ITR
F @ v
(3) B | W M

Space for Rough Work
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KLMNO PQRST UVWXY

| Alphabets: ABCDE  FGHIJ

1. 73 and 74 Direction :

In a certain code language BUT is written as 174. EAT is written

- e
as 453 and BAT is written as 451 : E?I%};T "%3
o T P» '
3. What is the code for the word ‘TUBE’ ? AT + .
{} I3 ’JliH = 45| U=+
- W/ 4713 @ 415
- (3) 4351 @) 4513

4. Which meaningful words can be formed by using the code 345 ? (Select
‘ . LJT;A Lis

two correct alternatives)

W TEA S (2)  AUT
3 ATE , (4) UTAl

5. In a sequence A is coded as C, B is coded as D, C is coded as E.

In this sequence which letter will be coded as P 7

\;/N' @ R

4y S

Space for Rough Work
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